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SEFIE 2L 5,960 6,360 A 400
201 £B-2dH| 5,960 6,360 A 400
01 At 22l 3,000 6,000 A 3,000
OYAMNFXE XXM F
1,500,000& * 23] 3,000
02 8322l 2,960 360 2,600
OsfitZE=INE & MRS L =223
80,000& ~ 123 960
OZEFXETEA |FANExH
2,000,000& * 10024 2,000
AN 5,938,878 5,097,298 841,580
= 80,000
= 277,298




AN XSEEH
M DsHE A
Sl 2AAMYXH CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 5,581,580
NFSONE 1,118,157 853,157 265,000
= 80,000
< 209,157
i 829,000
307 glz2tol & 853,157 853,157 0
= 129,157
e 724,000
09 2+HAHEBEXS 853,157 853,157 0
OsHEHA THEXES(0/2AL)
853,157,000& * 14l 853,157
< 129,157
e 724,000
308 XXM SOl A 265,000 0 265,000
= 80,000
< 80,000
e 105,000
07 IXNSHH2AURE = 265,000 0 265,000
OST-20-Y-40h FABISTHAIL
265,000,000 * 14 265,000
= 80,000
< 80,000
[ia 105,000
A4 896, 141 496, 141 400,000
< 38,141
e 858,000
307 g1+l & 896, 141 496, 141 400,000
< 38,141
e 858,000
09 2+HAHEEXS 896, 141 496, 141 400,000
O8NS =ABAZ(02AY)
896,141,000& * 14 896, 141
< 38,141
[ 858,000
RSUX& 3,700,000 3,700,000 0
307 glz2tol & 3,700,000 3,700,000 0
09 2HAHAEXS 3,700,000 3,700,000 0
O2+gH 53U X&
3,700,000,000& * 14l 3,700,000
ELISHARHEEELY S 20,000 20,000 0
301 gtEd= 20,000 20,000 0
1MIIEBESS 20,000 20,000 0
OBYUISHARY ca843
20,000,000 * 14 20,000
SEHAX R 60,000 18,000 42,000




AN XSEEH
M DsHE A
Sl 2AAMYXH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 30,000
s 30,000
307 glz2+ol & 60,000 18,000 42,000
< 30,000
i 30,000
09 2+HAHEXS 60,000 18,000 42,000
OZ2gdHAa 22X 30,000,000& * 20K 60,000
< 30,000
s 30,000
HAHDE 294 XN& 10,000 10,000 0
307 21201 A 10,000 10,000 0
03 QIZtHNHE2HHE X 10,000 0 10,000
OHAHOIE 298 XA
2,000,000& * 500 A& 10,000
LA XI &AL 134,580 0 134,580
301 et a =z 100,000 0 100,000
(AP S =S = 100,000 0 100,000
O100F & Al OIZ20 HE 2oz
100,000,000& * 1Al 100,000
402 RI2EXt20l ™ 34,580 0 34,580
01 ATt EAEEE 34,580 0 34,580
OYBHERAl JtESZ D] 22X
455,000& * 76CH 34,580
WSt AL 2e| 503,410 495,623 7,787
WEHMAILdS 2 503,410 495,623 7,787
201 Let24E] 124,200 66,740 57,460
02 =224l 124,200 66,740 57,460
Onsdlss MRS
65,0003 = 14002 = 123 109,200
ORENS)| FHTL HY 442
55,000& = 1200H & 6,600
OUXNZI2LIHHEAAEY 38 AIBE
100,000& = 702 = 123 8,400
401 Al HIZ 201 I 379,210 428,883 A49,673
01 A& HI 377,300 426,300 A 49,000
Onsdszl a4 25,000,000& = 30H A 75,000
OL=HMAHI A 10,000,000& * 40 A& 40,000
OJIEt nESotd AlEd2S &XI(BALE BHES)
500,000& * 2000 2 10,000
Os2Z &4 & WA 8,100,000& = 150 A 121,500
Oosd&d 2= 480,000& * 1000 & 4,800
O&sZ2% HEXE A4 2 WH
250,000& * 300H A& 7,500

_15_




A XN SEEH D
HM: WwsSHE A
Sel: DSUFALBL CER-ED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ogd&as a4 1,000,000& = 201 A 2,000
OdeEs A4 5,000,000& * 404 A 20,000
OL3M5S ¢ Z2S NF LAl
4,000,000& * 102 40,000
OLznN&sdss WA 650,000& » 30 19,500
OQLSHAMEL(OFZEAMX )
1,200& = 10,0000H 12,000
OusSHNMEX T AX| 1,000,000& * 5J0 2 5,000
OLUHUSS FANE SAHHI
20,000,000& * 14 20,000
03 Al&E 201l 1,910 2,583 NB73
Onsalsl al- 75,000,000& * 0.90% 675
OulEl & B2S XNF= A
40,000,000& * 0.90% 360
OsZ& A8 & DA™ 121,500,000& * 0.72% 875
HHSAHH(XNGE M) 51,754 64,744 A 12,990
Jl223 4l (Let) 51,754 64,744 A 12,990
NEFME J=238Hl 20,497 25,137 N4,640
201 LEt2 Y| 13,097 13,097 0
01 AR 22| bl 13,097 13,097 0
Olget=g4dl] 9,569
ORNEY SHAHA 9,569,000& * 14 9,569
Ol2&dl] 3,528
ORNEY SHAHA 7,000& * 7921 % 72 3,528
202 4] 3,200 7,840 N4 ,640
01 2LHOHI 3,200 7,840 N4, 640
FN2E SUAH A 20,000 = 201 x 80 3,200
203 € R =&lY| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
ORNMEY gR=&XH| 350,000& = 12& 4,200
HaL-ZEelAzel8q I8 14,054 16,235 N2,181
201 Bt A | 10,214 10,235 A21
01 AFR2 22l Yl 9,744 9,744 0
OlgetE24] 2,160
OFRNESE SHHA 2,160,000& * 14 2,160
Ol2&Htl] 2,184
ORMNSY SAHA  7,0008 « 60 » 52 2,184
Oleg+g] 5,400
OHIA-EB2lA AR2Y
50,000& = 191 = 1082 5,400
02 =294l 470 491 N 21




A RPN =P I
N HESAYAY
! S o Lo o

I(
€l 23 (ee

=

XS ZH )
)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O[¢ZHl] 470
OHIAL=ZSclA HEAIE A=
1,307.31& * 359L 470
202 4l 3,840 6,000 A 2,160
01 = LH 4 HI 3,840 6,000 A 2,160
SNSY SN 20,0002 * 42 * 48 3,840
nsdZE J=234l 8,673 11,582 A 2,909
201 ¢er24| 4,673 4,722 A 49
01 At 22/l 4,673 4,722 A 49
Olger=2tl] 2,013
ORAN2YE SHAH& 2,013,000& * 14 2,013
Olal] 2,660
ORAN2E SHAHA 7,0008 » 102! » 38 2,660
202 04l 4,000 6,860 A 2,860
01 = LH 4 Hi 4,000 6,860 A2,860
PA2Y SHUAL 20,0008 * 102! * 20 4,000
JIEEXNXNNHEE JI=3 ] 8,530 11,790 A 3,260
201 €24 4,930 4,930 0
01 At 22l 4,930 4,930 0
Olger=&tl] 1,990
ORAN2YE SHAHA 1,990,000& = 14 1,990
Ol3l] 2,940
ORAN2YE SHAHA 7,008 » 72 » 60 2,940
202 44l 3,600 6,860 A 3,260
01 = LH 4 b 3,600 6,860 A 3,260
O[=oddl] 3,600
ORA2E SHUH4L 20,0008 * 32 » 60 3,600
HRES (XSG HD) 1,700,000 2,200,000 A 500,000
WEHHX S 1,700,000 2,200,000 A 500,000
Y2 SAINISHAZ 200,000 200,000 0
701 JIEtSI HEEES 200,000 0 200,000
01 JIEtSI HE =3 200,000 0 200,000
Oz sAJIgs4II2 =4
200,000,000& * 14l 200,000
S3HAZTHML (sSHRAT LML SESIH) 1,500,000 2,000,000 A 500,000
701 JIEtSI HSHES 1,500,000 2,000,000 A 500,000
01 JIEtel HE == 1,500,000 2,000,000 A 500,000
O =3CX =& ASH|
1,500,000,000& * 14l 1,500,000




